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Goal for Today is to focus on E/p-based classifier for —3.5 < n < —2.0.
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Issues with the clustering?
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Issues with the clustering?
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There was a bug with clustering in 22.10.0

https://github. com/eic/EICreco¥

pull/610
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» Clustering underperforms (something isnt right?)

» Geometry with beam pipe, trackers and pfRICH (epic_inner_detector’)

outperforms geometry without it (epic_eeemcal_onlyz). (Note: both of these
geometries lack magnetic field).

! https://github.com/eic/epic/blob/main/configurations/inner_detector.yml
https://github.com/eic/epic/blob/main/configurations/inner_eeemcal_only.yml
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